

Submitted

15th January

Date

# Exercise

Lemma: If  $\nabla$  is torsion free theorem

$$\text{then } R(X, Y)Z + R(Y, Z)X + R(Z, X)Y = 0$$

Recall  $R(X, Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X, Y]} Z$

torsion free  $\tau(X, Y) = \nabla_X Y - \nabla_Y X - [X, Y] = 0 \quad \forall X, Y$

$$\Leftrightarrow \nabla_X Y - \nabla_Y X = [X, Y]$$

Yuki Katsurada  
Anata Suzuki  
Duc Dam Truyen  
Nguyen Song Ha  
Bui Dang Cong

Proof  $R(X, Y)Z + R(Y, Z)X + R(Z, X)Y$

$$= \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X, Y]} Z + \nabla_Y \nabla_Z X - \nabla_Z \nabla_Y X - \nabla_{[Y, Z]} X + \nabla_Z \nabla_X Y - \nabla_X \nabla_Z Y - \nabla_{[Z, X]} Y$$

$$= \nabla_X (\nabla_Y Z - \nabla_Z Y) + \nabla_Y (\nabla_Z X - \nabla_X Z) + \nabla_Z (\nabla_X Y - \nabla_Y X) - \nabla_{[X, Y]} Z - \nabla_{[Y, Z]} X - \nabla_{[Z, X]} Y$$

torsion free

$$= \nabla_X [Y, Z] + \nabla_Y [Z, X] + \nabla_Z [X, Y] - \nabla_{[X, Y]} Z - \nabla_{[Y, Z]} X - \nabla_{[Z, X]} Y$$

$$= (\nabla_X [Y, Z] - \nabla_{[Y, Z]} X) + (\nabla_Y [Z, X] - \nabla_{[Z, X]} Y) + (\nabla_Z [X, Y] - \nabla_{[X, Y]} Z)$$

$$= [X, [Y, Z]] + [Y, [Z, X]] + [Z, [X, Y]] = 0$$

torsion free

Jacobi identity